EAGRAROBREERT — 2 N— ABISH —F

2020&7R5H (B) 2[1ES2H

B> 4N KKEI®E G3 ¥5%3%& (ER) (B N7 EnEE e
[A&4] 1 7 :238,000,000  ~ 2 3% :15,000,000 @ 3 7 :9,500,000 @ . 4 7 :5,700,000 @ . 5 7 : 3,800,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o AEEE 147, -1-1- . . EHEZERE (EX)
il eyt B3 e 1(4_7)3 1-1-1-1 [35.8|105.2| 8 ig;t A
R:FHVYTTIZRE B:TF—hkUav3a RAt4is
X H S . 4 3 | SHERK 1:48.1 3-4-2-2 |36.4| 97.4 | 7 458 | RIEBEN (R=R)
2(8|11| /¥ =Y 7Y 54.0 (%) o |ERL=X )
Z:O0—KHFE7 B:IZANRZNY— At A
— Ry 4 3 | FIBEKX 1:48.1 6-9-9-8 |36.0| 97.3 | 5 474 | BERRERE (EX)
3 2| TA—TFXLT 52.0 (75%) (o) | EWBREHD (%)
RiFA—TALNT N BEUST HET7— L
¢S = i 3 | K& 1:48.2 10-10-7-5 | 36.2 | 96.3 | 1 452 | SO (EH)
41719 | XFZRATTF 52.0 (3/4) (o) | BEL=Z ()
RWN—5—-297 B:X7F7U—-F A+t FEI
. # 3 | WHEE 1:48.4 9-5-4-2 |36.6| 94.5 | 3 512 | EAARRE (ER)
51812/ VT > 54.0 A 1/4) o) | B) prTF-L—v2y
R:¥XF BILCFNLY—F J—=HrTp—L
= 5 3 | BfkiE 1:48.5 11-11-11-8 | 36.1 | 93.3 | 4 488 | BET (F#)
6!5/5| 77k Ta—b o 54.0 (3/4) © (H:)Té<’537—5(
R:x4+1=T7—Z B:HI5L—X ke
+ 3 | EBIATE 1:48.6 2-3-4-5 |36.8| 92.7 | 6 | 500 |FERE (BR)
7 3| 7Y KT g 54.0 (1/2) (cay | TENT A
RN—5—-2y7 B:RyT714a> H—L—- T vy T7—LARS
N THE : -12-11- REALT (EH)
alsle|7—1o1>4L 4 3 Fi 1.(439).1 12-12-11-11{ 36.6 | 87.7 | 12 (4_626) PRt
RO—XFLT4L B:FvTFoH—I ST UL ¢
S 4 3 | BENE 1:50.3 4-5-4-7 | 38.4| 78.5 | 11 524 | #ZILIREHRE (FBH)
9 7| NLXZX 3.0 ) (H1a) | B) FrmOvETr—L
2= MK B:hTT7— Al BN
A # 3 | D. L—> 1:50.8 5-2-2-2 | 39.2| 75.3 | 2 508 1T ()
1ol g| 71 bt —H— 54.0 3) 6 | B) FrOyrTr—L
R:/HTVRN BFATTFIIET =¥ T L
TS N . ESHlIES PN : -8-10- FEERT (ERH)
1 NEPITY IS 4 3 il 1(.35/%9 6-8-10-10 | 38.6 | 73.5 | 10 <5+028) B Foe
LHATAT v — BT RIAV Ny E— Prdie
. BE AT -50. g . . FIHEE= (i)
1217010/ IREL XYY L # 3 | 8 1(5?:? 6-5-7-11 | 38.9| 74.0 | 9 (5_03 ot
b7t N By 7207 BEE &
@ 71 L
) 47.7-35.8
NEA>Z4 L | 12.0-10.8-12.6-11.9-12.3-11.9-11.9-11.6-12.3
@ I —F—@EBIERL
1=3—F— 1,3,11,7,8(2,4,10)12-9,5,6
2= = (x1,8)3,11(7,10,12)4,2-9,5,6
Fol=5r= 1(8,11)(3,7,12) (10,9)2,4(6,5)
40—F— 1(8,11,12) (3,9)7(2,5)4(10,6)
[ N3
OB 1 2,020 714K 1-11 3,380H & 1-8 3,260 RPEL:] 1-2-11 22,4804
8 B 1 500 1-2 1,870M B E 1-11 11,240 @ 1-11-2 173,020M
1 580 2-11 1,730 | | B B 1-11 25,750
2 360F9

ABRICOVTHRTEEERROODE, THEB LS,




